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ENERGY MANAGEMENT
Frraifea w : Vawer | [oftrwans 3w 30
Time allowed : /2 Hour] [Maximum Marks : 30

Tz . (i) W At E e aem el sw e
Note : All Questions are compulsory and each question is of 1 mark.
(i) T srwrsH & arw &7 @t Rafy 7 st s B AT k1

Only Erglish version is valid in case of difference in both the languages.

1. hutEr #t Fo wHitea % fagm & 1. The energy strategies of companies

@ : . . S have the principles of
(a) Restoring and preserving the

(b) T HIT UGHOT FH HEA environment.

(c) T UL % R ® @i i i (b) Reducing wastes and pollutants
HET (c) Educating the people about

wl energy conservation.
@ 3 (d) All of these
2. Fet wevA & qed SN % ferd 2. The main objective of energy

v management is to

(a) T T B wH WA & e (a) minimize energy cost

(b) g YV A & e (b) minimum environmental effects

(c) ¥ IO % @i A 5T (c) maintain  optimum  energy
T R % e procurement and utilization

@ Fwd (d) Al of these

(1) P.T.O.



EE3L0 “ ement is
Energy manaé 2 ke

RE Wﬁ W TE W'Tﬁ EIZEF% 3. Component Of
) TRTERT JENR (a) Environmental managemen
: agement
Q) AN E () Nitrogen ma?
t N WX::T: h (d) Water management
Year 2014-2015 our countries p,,
4 w€ 20 %2;)%15 F E;ﬁ AR 29 W AR 4. f:;itaeenergy consumption was
RS | T
10 kWh
@ 1010 =t | 5 (@) 91}80 KWh
B 990 fopett A we (®) 970 kWh
) 970 fveh T g1 (c) Wi
W) 890 Feel e e @ 850
5 ST I EAT & G % 5. Modification adds to consungy
@) RO 0 ey demand is
B 2 . (a) Demand side management
( w (b) Supply side management
(c)  F (c) Energy management
(d) S TR (d) Energy conservation
6. fogmvim ksistmmed 6. The unit of electric power and energy
(a) foell o ve1 & fett 9e is
(b) Tt ar & e aiee (@) kWh & kW
(c) Tt o & Toeedt e der ®) kW&kv
= @ B (c) kW & kWh
(d) (d) None of these
7. W | $fear =t o1 wnfm
o=, 2016 5 dfear = gt v g 7. In March 2016, India had a tots
e Installed capacity of
(a) 400 7T =& () 400 GW
(b) 200 &qE () 200Gw
(¢) 1007maE (© 100GW
(d) 2987imarE (d) 298 Gw
8. gfr d fagm oo % # F wRwr % 8 What is 1 . .
fefawn¥? generatin © position of India It
(a) ¥ S world ? & clectrical energy In
(b) TET WA Ez; First position
(c) e © Second position
d) dwwr position
@ (@) Fourth position
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9,

10.

11.

12.

13.

14.

v 1qore

(a) Hwg wter 7 ufefwante v
(b) WwT v ¥ 7Pz viw

(c) w1 PR 1 ey v

(d) viAREaim viem 4 o i

W AEAG T A oW P &
7 o w2

(a) wprgen

(by ©A

‘c) wEAE g

(d) frremgz

T weE adten ¥

{a) oy

(b) W&

(c) S v &1 faverm
(d) o wadt

FHAT T Tl on | fem e b
(a) 1 (b) 2
{c) 3 d) 4

Tvg fadmor % MR W o T @)
w1 o ¥

(a) WO % UNAW § S ol

(b) FITE ST rar e

(c) fawga oo sran wdar

(d) P v o e

@9 ¥ # T I Fa e A
C il

(a) utER foveos

(b) ifeer 7o Fev

(c) Toeoft sieT

(d) uRITEE

(3

10.

11

12.

13.

14,

2238

Power factor is the ration of

(a) Active power to the reactive
power

(b) Active power to the apparent

power
(c) Apparent power to the active

power
fd) Reactive power to the apparent

power

Which is the major energy source to
meet the Indian energy demand ?

(ay Coal

(by Qil

(c) Natural Gas
(d)y Lignite

Energy audit is an

(a) Inspection

(b) Survey

(c) Analysis of energy flows
(d)y All of these

Energy audit is performed in phases
(@ 1 b 2
(cy 3 @d 4

Based on visual inspection audit is
called

(a) Walk through audit

(b) General energy audit
(¢c) Detailed energy audit
(d) Investment-grade audit

Which of these is not a source of
energy audits ?

(a) Power analyser

(b) Power factor meter

(c) Synergy meter

(d) Stethoscope

P.T.O.
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15 I IRETRE

16

17

18.

19.

fa) ITF FEOIF
by FW T THE
(c) 9 yETE

(d; T 7

TR ATE FEYA F T
o e

(z) V& A9 " qH =AA

(by V& FEW 9 3 At g T
{c) WWW?QWW

(d) TH R FT A

$4 rm g e § S T wO &7
TFEA K

(ay et

(b) d=-4% TEw

(c) ¥ arzd

(d) 7|

Argifres 83 T FN TR € W TS
[ 4

(a) WR

(b) ¥IfeRT U JUR

(c) FI™ WA

(d) iR

YT &3 U TN SO0 $/ € G ¥ 0
(a) TEHRN

(by (O

(c) FE FA ITHA0

(d) Tadt

4)

135.

16.

17.

18.

19,

The head of energy Mmanagemey,
team 15

(a) Branch Manage!

) Energy Auditor

(c) Energy Manager

(d) All of these

The pay period ;s defined as the ratig

of
et investment to the capital

(a)
cost

(by Net investment to the net cash
flow

(cy Net annual savings to the
capital cost
(d) None of the above

How we conserve energy in
agriculture sector ?

(a) Metering

(b) Tnckle irrigation

(c) Efficient pump motors
(d) All of these

Energy conservation 1n the industrial
sector cannot be done

(a) Meter'mg

(®)  Power factor improvement

(c) Efficient motors
(d) Over-load

How energ

Y cons i be
done ervation can

in domestic sector ?

(a) Awareness

(b) Discipline

(©) Energy efficient devices
(d) All of these
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20. WTHRURTET 91 AT fmgr Sy &
(a) WRom
(b) TEw
(c) FeT T wEw
(d) T A

21 8 ¥ ®F W Shanm e & e &
[T T2 IR ¥ ?
(@) R WHARTES
(b) UTH TEATIRE
(c) e TEIiiFaRE
(d) R sieuEs

22. T ¥ W W U A wguer e
ERCZuUR &
(a) ug fpeex
(b) =TEFHA
(c) =TT
(d) ITot

23. T8 ¥ B4 W FoiEa g9 % ol @
TR AT IUSHIT & ?
(a) YR faveiws
(b) fEmsT Hiew
(c) TormRIRfes Mfadier
(d) T Q@ HEE

29 1w st e St g W A
R AT
(a) T &5 A6
(b) TS HTET
(c) W@%&ﬁﬂﬁg
(@ ()9 @) TR

25, o w, oS e ofve a6 & g

(d) () (c)

20.

21,

22,

23.

24,

25.

2238

In general energy conservation can be
done

(a) Motivation
{b) Awareness
(¢) Energy Conservation Program
(d) All of these

Which of these is the largest
combustion product of fossil fuels ?

(a) Carbon monoxide
(b) Sulphur dioxide
(¢) Carbon dioxide
(d) Nitrogen oxides

Which of these is an air pollution
control device ?

(a) Fabric filter
(b) Bag house
(c) Bag filter
(d) All of these

Which of these is a device that
removes suspended dust particles ?

(a) Power analyser

(b) Synergy meter

(c) Electrostatic precipitator
(d) None of the above

A natural process that heats the
earth’s surface

(a) Green house effect
(b) Global warming
(c) Carbon dioxide
(d) Both (a) & (b)

What are main pollutants of acid
rain ; acid fog, acid snow ?
(@) Carbon dioxide
(b) Sulphur dioxide
() Nitrogen oxide
(d) Both (b) & (c)
P.T.O.
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26, FGD soredt %1 qq a7 w2
(a) TE WK w
by et g fraeme

v & afiy ra ar wAr ET

) w1 feaepiEeH

37 SCR woret S Q@ s w7
()  SIEE IAE S
by iewm i gfewrs
(o) T ReR @d

(d) SIS FE S

8. sETTEmF TR e Eno

(2} FNF SEEET

by  3TTYE @Ud
(cy A 3R AT % €9 iy
(d) T |

29. @ v o e § # ¥, q9 oRom
¥

{a) W?ﬂﬁﬁﬁt{'?ﬁﬂ
(b} WY I ATHN
(¢c) =uwam pfagh
(d; amq
30. P WA w w i s ko
(4) Viteod
(b) @A
(c) ol =i
(d) T

(6)

26.

28.

29.

30.

2238

What is the full form of FGD
system 7

(a) Focus Group Discussion
(b) Financial Group Directive
(¢) Fire & Gas Detection

(d) Flue Gas Desulphurization

What is the full form of SCR system ?
(a) Selective Catalytic Reduction
(b) Silicon Controlled Rectifier

(¢) South Central Railway

(d) Selective Call Rejection

What are reasons for energy problem ?
(a) Over population

(b) Over consumption

(c) Gap between demand & supply
{(d) All of these

If power factor is less than unity it
will be result in

(a) large kVA rating of equipment
(b) Greater conductor size

(c) Large copper losses

(d) Al of these

Which of the following i3 renewable
resource ?

(a) Plastc

(b) Coal

(¢) Solur energy
(d) Diesel



